AS BS 

The Stimulus
Executives at most of the countries independent television companies are bracing themselves for some difficult times. With the economy expected to pass through a period of low, or little growth advertisers are cutting budgets and that is the main source of income for those who provide us with ITV1. Revenue flows are expected to fall and schedulers are looking at ways of boosting income. The recent murder on Coronation Street was a ‘financial’ success in that it brought in a few million more viewers and of these ‘stick’ with the programme more can be charged for the slots available before, during and after ‘the Street’. Other programmes will struggle and many producers will have to look at the theories relating to cost and profit centres when calculating where to shoot or what to put in a story line.

The theory

Obviously, we are talking budgets and other elated topics. In this week’s edition we will be looking at cost centres, profit centres and the use of variances. So, let’s start with an analysis of what we mean by the term budget.

A budget is a plan that establishes the policy a company is to follow for a particular period of time. It is normally calculated in money values and contains what is expected to happen and is regularly updated to show what has actually taken place.  Normally, the construction of a budget is part of the process of matching objectives to reality and establishing targets for departments, individuals etc.

A budget has several major aims. These include:

· deciding on what is a priority and building this into the planning process

· developing a sense of direction within the organisation and therefore allowing management to plan how they will deliver what is wanted

· allocating responsibility for the meeting of objectives, targets etc and therefore developing a system of checking what has been achieved/not achieved and who was responsible for this

· allowing staff to engage with targets and hopefully feeling motivated by what has been decided upon

· linking all of the above into an environment that encourages productivity, efficiency and so increases the competitive advantage of the business

· enshrining in the corporate culture the need to look ahead and plan for the future

Alas, it’s not always so easy to actually construct and resolve budgetary planning and control. Things can go wrong and these include:

· poor initial information and data, which in turn can mean that the efficiency savings do not arise

· factors outside the control of management throw all the calculations of course. Certain external factors, such as interest rates, inflation or even war can destroy the ‘certainty’ that business aims for.

· A lack of control and co-ordination. This is a perfect example of diseconomies of scale. All involved in setting budget targets must understand what has been decided and how they are to be delivered.

To try and overcome some of the problems outlined above many businesses use flexible budgets, which alter as circumstance change. However, too much flexibility and the ‘control’ function of a budget might be lost. Another form of budgeting that has grown in popularity is known as zero budgeting. This gives managers a starting sum of 0 and then they have to justify expenditure against performance and expected outcomes. Once again the ‘control’ factor is dictating how the budget is constructed and used as a management tool.

One of the most important exercises carried out by using budgets is that of variance analysis. This simply means looking at what was forecast and seeing what actually happened. Depending of the size of an over or under shoot the difference (variance) is analysed and management policy altered accordingly.

Analysis will allow responsibility to be highlighted and action taken. Normally, significant variances take place because of:

· the use of the wrong materials

· poor storage and stock control

· faulty production techniques

· under or over estimating market trends

· poor moral amongst employees

· quality control problems

It is always worth thinking about LINKS at this stage of the exercise. So, think about problems that might have arisen. For example have you got enough staff of the right quality, or has an external factor caused material prices to increase (or fall), has poor management been the cause, or what of morale amongst employees? And remember when interpreting variances to think of time, trends, and size of organisation and reactions of competitors.

Topic of the Week

Cost and Profit Centres.

Most budgetary control systems are normally based on the use of cost and profit centres. These give us added control and subsequent co-ordination over the construction and application of the budget. Cost centres normally focus on a recognisable function or unit of the organisation. Costs can be allocated to each of these and providing all are included it gives us a clear idea of what it has cost to perform that function or operation.

Profit centres involve BOTH costs and revenues. They are required to register revenues, which can then be offset against the relevant cost charges.

By allocating costs and revenues in these ways management can monitor activities and see how well they are performing and keeping within budget. Any variance above or below tolerance can be looked into and action taken. In that way the budget is performing a number of important management functions, namely, planning, monitoring, review and action.

Some questions

1.Explain what you understand by the terms (a) profit centre (b) variances and (c) zero budgets.

2. Outline the reasons why budget systems might go wrong.

3. Why do managers use variance analysis as a way of monitoring the performance of their business?

4 How might producers react at independent television companies as they’re advertising revenues fall?

Suggested Answers

1. (a) a part of a business for which we are able to calculate revenue flows, costs and therefore profitability of that particular function, department, unit etc. (b) the difference, in money terms between the forecast and actual outcome for a category/heading within the budget. Normally, favourable outcomes mean that costs have been lower than expected, whilst adverse or unfavourable mean that costs were higher than forecast. (c) a system of budgeting where no money or zero money is set at the start of the budget period. The relevant manger has to ask for funds and prove the amount needed. Individual managers therefore need to be both persuasive and efficient as they argue for the funds needed to carry out their responsibilities.

2. Budgets tend to produce incorrect results because of one of the following.

· poor or inadequate data and this undermines the accuracy and relevance of the planning decisions made within the budget structure.

· External factors, which are beyond the control of management. So, changes in exchange rates, interest payments or inflation can all cause problems, as can labour market shortages.

· Poor control and co-ordination of the system. So, monitoring is inadequate and variances begin to arise. If no corrective action is taken the situation will worsen and the management toll effectiveness will diminish.

3.Managers use variances as part of their control and review function. If the initial forecasts are accurate and no external factors cause estimates to be inaccurate then managers can track performance and take necessary action. They can agree tolerance levels and attack those, which fall outside of these. They can recognise responsibility and ask questions as to why something has arisen, Post the identifying of both problems and responsibility action can be implemented and further monitoring planned.

4.Producer will begin to feel budget constraints as senior management cut back on expenditure. Costs will need to reflect this no era of tighter financial control. Revenues will be falling and both cost and profit centres will be more closely monitored. This may lead them to have to:

· reduce location funding and make more studio-based programmes

· stick to proven formulas for getting high audiences e.g. reality TV

· outsource part of the production process

· film overseas in low cost locations

· link programmes via same stars, themes and audience groups

· repeat programmes

· reduce hours of broadcasting

· buy-in more programmes

All of these actions might affect quality and customer loyalty. Merchandise sales might suffer and the station might become seen by some as ‘tacky’ e.g. game shows and fly on the wall documentaries.

Control over expenditure and proving probable revenue flows from proposed programmes will also become more a part of everyday life.

